CHEE A AE B AMA

240 WRD
M AT (L DDA/ ULEE)

ool BIHTHAIES B2IE 2 (12l M2
SA - B GR(31) - HIRAY - BES ol & ol @ o HlmS2
e 4,726,538 4,393,403 333,135
S A (LN SSHY /2 S) 87,750 89,752 22,000
SIHAHZO E2IX 2 87,752 89,752 22,000

HoF A U SEBP 63,907 65,907 22,000
202 Ol 0 1,200 21,200

NET 0 1,200 1,200
OZAZARIE DKo 2% 0l 0 1,200 A1,200
307 8I1240| & 0 800 A800
12 BI2toIQEt D S| 0 800 A800
OZAZEAIRE SISt DS
23 0 0 800 A800
MEISICR B SHB R AN (LB RIS /AL N) 609,000 249,000 360,000
MEBSICEE5HZ 2 AL 609,000 249,000 360,000
2505 AHENNH(BE2E SEHA) 360,000 0 360,000
401 A28 L2048 360,000 0 360,000
01 A& 230,000 0 230,000
2E50E SEIA Y
230,000, 0002 230,000 0 230,000
02 22l 130,000 0 130,000
0B322 2EEA 2
130,000, 0002 130,000 0 130,000
HUSAR2 (YLD DN /YL H) 518,507 533,062 A14,555
580 SAAE 2% 518,507 533,062 A 14,555
HESA AAE N 186,724 191,279 N4, 555
401 A28 L =0b| 111,920 112,687 ATET
01 Al&H 111,920 112,687 AT67
OSYUE ZREAR BAHEDEE2Y
Z=TA 16,400 17,167 AT67
- DBt 2O&Yl S
A 3,745,008 3,745 4,512 ATET
405 XHAHE S| 74,804 78,59 13,788
01 LS EF =t 74,804 78,59 13,788
OT=x A3|0A YA AX 22,078 22,192 Al14
- JIEHEH] S(2T, HolZ ¥ )
A 11,047,650 11,048 11,162 Al14
ORSH A3|0A MAEA0 AX| 40,584 43,500 12,916
- JIEF BOIEHI(GI012, 288 S)
2 1,084,000 1,084 4,000 2,916
OPGE A9IX| 72 7,507 7,900 A3%3
- 2dport A3 6,100,008 6,100 6,400 A300
- 8port A 1,407,008 1,407 1,500 AR
O0lE8 Y&EH 2 4,63 5,000 365
- BIQ! OIZA! AL (DA 20H, 600N)
AN 3,084,802 3,035 3,400 A365
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